Q NN\ )//\\{/h{/\\(/\//\\[)\;y\;[/\.\[)\y/\;{/\xl/\;l/h//\[/\x{/\x//\a{/\;{/h{/\[/\W\W\;[AJ/\\//\\[)\W\W\/AJ/\;{/\W\1/\;[/\1/\)[/\\&\30\ NN\ NI \NINT NI\ Q

QYO RARARARINARAIRIRNARAARARARAR IR ARSI RN ARINARAARIRIR AR RIS QYO

OOO QANTNINTNINTNINTNTNTNTNTNTNTNTNTNINTNINTNINT NINTNINTNINT NN K\11\\[7\\{/\\(1\&{1\\{1\\{/\\{7\\{/\\{/‘\{1\\[1\\{ INTNINTNINTNINTNINTNINTNINTNINTNINTNTNTNINT %O
JZNYZNVZNANTZNZNVZNZNTZNTZNVZSVZNVZNTZNVZNTZNYZNTZNVZNTZNTZNTZNZNNTZNZNZNTZNTZNTZNYZNTZANZNZNTZNVZNTZNTZANTZNVZNTZNYZNTANVZINTZNVZNTZNTZNYZNYZNTZNVZNYZNTZNZNTZNYZINTZNTZNVZSVZINTZNTZNTZNTZINY

\4(/\16 \\ﬂk)f/
FZANYZAN NN
Vv V7V
& E o E
WAy L) a2
z/h{i\ L] NN
XD S SR
X erles EFGH E/C Set-4 %
WA "y N4
707 NN
NN QAN
ONON ONON
WA Y7\
ANON AN
X -0 K
& e
XX Q.P. Code 9K
WA WA
ANON NN
X . S
0T
ONON
: Tlierefl Y- IS i IA-GIETHI b
N7
V7N R 11
¢ Roll No. TGI8 T 7% |
NN
WA
KX Candidates must write the Q.P. Code
NN
WA .
&5 on the title page of the answer-book.
N
QA - Qo
ANON AN
(7% QA
X ENTREPRENEURSHIP (Th X
e ( eory ) S
AN 2NN
N7\ YANZ
NN NN
W fAgiRa w3 T SeHTH 37 : 70 &
AR . . AR
FZANYZNN . . ONON
S . . KR
%% Time allowed : 3 hours Maximum Marks : 70 %
N2 VN
NN NN
XX K
S o ‘ ‘ ‘ %
WA WA
. S o fh s T H giga ys 23 % |
&8 $UI 2 &5
8 ‘ o
())g = ﬁ‘ - - AN
G0 e T W gifed B1Y el IR feU MU gw-w i i wdiemel swgfee & o0
SR JE-98 W | &%
00 e HUAT G L WA b 3H T-GH H 34 TH € | X
V7% QA
G e hUAT U T I foreT NS e ° Uge, ITR- Eiﬁlaﬁl U U9 T SRHTR
NN NN

N2 N4
NN ONON
N4 NG
§8¢0 §KQ
3 Y99 I e fie =1 ww foan mn T I fadr G
XX e - : 15 | - KX

e ‘ e
e qdiE ® 10.15 S foham ST@M | 10.15 S ¥ 10.30 S qh BE A o
V22 RN

58 -9 I T 3TN 39 G b G I IT-Yfeder W IS I TR forem | e

ONON

&% e Please check that this question paper contains 23 printed pages. 50
50 . . . . 5
&¢ o Q.P. Code given on the right hand side of the question paper should be &%
ANZ\74 . . . \\(1\}/7
<X written on the title page of the answer-book by the candidate. 5y
%% e Please check that this question paper contains 34 questions. 5%
K% o Please write down the serial number of the question in the ¥
AR . . S
&5 answer-book before attempting it. &KX
ONON ONON
¢¢ e 15 minute time has been allotted to read this question paper. The
&8 question paper will be distributed at 10.15 a.m. From 10.15 am. to ¢
&S . .m. i i i &
X 10.30 a.m., the students will read the question paper only and will not &%
&R write any answer on the answer-book during this period. &R
&K KR
RR R

v VNN NINTNINTNINI\NINT\NTNTNINT NI\ I\ NN \NINT NN\ VNN NI NINININT NN NINT NI NONINT \NINT VTN NN NN NI VO \év

Q) DﬂQ{/\\{/\)[/\\{/\\{/\X{/\\(’\\{J\\/J\\[/\\ﬂ\\[/\\[/hﬁ\\ﬂ&\//\\{/\\{/\\[l\5[/\\{7\\(/\\{/\\[/\\[1\\(/\\[/‘\()\\(/\\(/\\{/\\ INONTNT \[l\\{/“[/\\()\\L)\\{/‘\\{/\\[)\\[)\\{/\\{)\\[/\\{/\3(/\\[/\\[/\\{/\\[/“{/\\()\\[/\\(/'\\{/’\\[/\\[/\\()\\{) /o)

(760 QANININTONIANININTNINININTNINTNINTNINTNINTNINININTNINININTNINININT ST NINTNINTNTNTNINTNINTNINININININININTNINININTNINININTNINI, zooo
[/\E{/\\ﬂ\\[l\\(/\\()\\{/h(/\\(J\\ﬂ\\ﬂ\}ﬂ\\[/\x{/\\ﬂ\\[/h{/\\(/\)[/\sﬂ\\0\\1/\\[/\\{/Q05{/\\{/\\[/\}0\:{/\&{/\\0\\{lix{/\\ﬁ\\.{/\sﬂ\\ﬂ\\d\\ﬂ\\4/\\0&\(/\\(/\\[/\)[J\Aﬂ\\(/\\{/\d{/\x[/\\ﬁu{/\\ﬂ\\[}\){/\\(/\\z/\\(/\\()\\[)\\ﬂ\)(/\\[)\\

98 A Page 1 of 23 P.T.O.

Get More Learning Materials Here : & » @&\ www.studentbro.in



EYE
5]

HIHTT 4597 :

FHeaferfiaa 3 1 &7 @ 9igu 37 3771 awd! @ g g |

(i) 39 ¥97-U7 H 34 797 & | @4t 397 S7fAard &

(ii) I8 F¥9-U7 AR @Sl § [FY1fera 37 797 8 - WU &, @, T a9 |

(iii) TUEF: FT GEIT 1 & 18 7% T5-1ec1T JFR & Uh-Teh 3% & J77 5 |
(iv) TUE W : Jo7 G&IT 19 @ 24 7% &T9-3707 FHR-1 & F1-31 37l & Fo7 3 |
(v) @IS T JIT G&IT 25 & 29 7% TY-IF0T YFR-II & AT-AT 31 & Fo7 & |
(vi) @UE T : 97 G&IT 30 & 34 TF 314-IH1T JHR & Wier-qie 37l & Fo7 & |

(vii) Y97-97 § gHF fabey 787 foar 7w 8 | T4, @ve @, T T 7 § 3RkE
faeq &7 FIae 1737 a7 8 | wdensf & 57 3ol 4 @ fFd v go7 FHT I

forer 8 |
«usg <h
1.  FHAIRET H | -8 q AT TeR0T o G&H T 1 8 ? 1
(a) @IS (b) SUMIHT
()  TsHIfds (d) wrifeertaes
2. VS H HH-UT ek forg, TEse a1 -1 {1 AeHmen & ®9 § fo@rs aar g 2 1
(a) geATh (b) ST
(c) S ATH (d) FUS TS

3.  HIwI-hiaT quT TuHt I Uit & S U S H i @R | Afe 3 e ol it &
ISR | T ¢ W o (1T 37X Tk 9 TS T G i oh [T o Teh |1 forerd ot
o, a1 I o7 98 TohT ST 39 JohT ST 98 hEcd T ; 1
(a) oK foear foe=
(b) AT T ST (Hr e forer )
(c) &fast faear
(d) TR oo

o8 Page 2 of 23

Get More Learning Materials Here : & m @&\ www.studentbro.in



EYE
5]

General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(it)  The question paper is divided into four sections — Section A, B, C and D.

(iit) In Section A : Questions number 1 to 18 are Multiple Choice Questions
carrying 1 mark each.

(iv) In Section B : Questions number 19 to 24 are Short Answer type-I
questions carrying 2 marks each.

(v)  In Section C : Questions number 25 to 29 are Short Answer type-I1I
questions carrying 8 marks each.

(vi) In Section D : Questions number 30 to 34 are Long Answer type
questions carrying 5 marks each.

(vii) There is no overall choice. However, an internal choice has been provided
in Section B, C and D of question paper. A candidate has to attempt only

one of the alternatives in such questions.

Section A

1. Which among the following is an element of micro level of business
environment ? 1
(a) Social (b) Customer
(c) Political (d) Ecological

2. Which component of a brand appears in the form of a symbol, design or
distinct colour scheme ? 1
(a) Trademark (b) Brand name
(c) Brand mark (d) Tagline

3. Coca-Cola and Pepsi are the companies operating in the beverage
market. If they decide to merge together to create a large organisation
with a bigger market share, the type of merger so formed will be called : 1

(a)  Market extension merger
(b)  Conglomerate

(¢)  Horizontal merger

(d)  Vertical merger

o8 Page 3 of 23 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



EYE
5]

4, T=fafed 7 9 F9-ar foeey & 3T &1 gmqar W eI (ROE) Futfa =3 #

HETIAT T 2 I
() Hed i Osft
i) eI

(iii) T AT

(iv) O9aT (LaTfHed i)
(@) (@), (i) 3 (iii)
(b)  (iii) 3T (iv)

(¢ (i) 3R (iv)

d) ()3 Gii)

5. AT TSI B qehefioh €€ (NIFT) ¥ e TSI o7 hi¥l 00 i o T
TR % fAIQ SH-Tq Het sht Toh $ohTS 3T AT AT off | 38k feTq 38 Sielt 31
T 3ufberd BT TR 3 feaT SfEl o Farsira fRrggatl o Arelr-foem & s s 9o | 36
YT FHUST I IS o I Ueh SEEUT NEHEA SHR=T S8l a8 319 TEsire qiee st oft
T TSI it AU AT AT o HATYR W I8 7Y SHY T AT U2 AR LA hi
AISHT 1T off | IHS SUHRRTSTY o HTY FATAATST TAT HATHATS T ATEIHT § SATa=iia
AT AR ToRAT | 38 30 WX ot €1 QA7 ST fokam o ST St < s o
I H FITFEd I | TIRT ST o G ALk Rl TG, SRt STFNT ST gRT foha

Lol 1
(a) WE¥IR
(b)  3T=RE TG
(c) =i sgfa
(d) @RI
98 Page 4 of 23

Get More Learning Materials Here : & m @&\ www.studentbro.in



EYE

i
4. Which amongst the following options will help an entrepreneur to
determine the ‘Return on Equity’ (ROE) ? 1
1) Total Capital Invested
(1) Net Income
(1i1)  Gross Profit
(iv) Equity (owned funds)
(a) (1), (i1) and (iii)
(b)  (iii) and (iv)
(¢) (i) and (iv)
(d) (1) and (iii)
5. Anita, after her course in fashion designing from National Institute of

Fashion Technology (NIFT), wanted to start a readymade garments unit
for infants. For this she started attending baby shows where she could
talk to the parents of the newly born infants. She made an Instagram
profile for her clothing range where she posted her designs and on the
basis of ‘rating’ and ‘likes’ on the designs she planned her next set of
dresses. She started talking to the customers, both online and offline. She
also pay attention to what the customers were saying about competitors’

business. Identify the way of trend spotting that had been used by Anita. 1

(a) Think trends
(b) Read trends
(¢) Talk trends

(d) Watch trends
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6. Assertion (A) : Minors cannot form a partnership firm.
Reason (R): Minors are incompetent to enter into a valid contract.
Choose the best option from the following : 1

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation for Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not
the correct explanation for Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Reason (R) is true, but Assertion (A) is false.

7. ‘Transferring of financial resources from the surplus units to the deficit

units’ is the role of which of the following ? 1
(a)  Financial marketing

(b)  Financial intermediation

(¢)  Financial planning

(d) Financial budgeting

8. Assertion (A) : Break-even point is that level of production where there is

neither loss nor profit.

Reason (R): Break-even point helps in determining the products that
are not contributing to meet fixed expenses.

Choose the best option from the following : 1

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation for Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not
the correct explanation for Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Reason (R) is true, but Assertion (A) is false.
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9. The basic test of a successful entrepreneur is : 1
(a) Identification of business opportunity
(b)  Identification of a problem
(c) Identification of target market
(d)  Identification of ways to earn profit

10. Riya was fond of cooking and wanted to use her skills to establish a
business of homemade pickles. Her business was established and it
turned out to be a very popular in and around her locality. Her husband
was a manager in a bank and was transferred to another city. Riya had
to go along with her husband, so she had to close down her flourishing
pickle business.

The form of business organisation operated by Riya was : 1
(a)  Partnership

(b)  Public Company

(c) Sole Proprietorship

(d)  Private Company

11. Which of the following statements is not true about a Private
Company ? 1
(a) A private company has a minimum of two (2) and maximum of fifty
(50) members.

(b) A private company does not restrict the right of transfer of shares
of the members.

(c) A private company uses the word ‘Pvt. Ltd.” at the end of its name.

(d) A private company prohibits the public to subscribe for its shares
or debentures.

12. Manan thought of an idea to manufacture solar bins where the
accumulated garbage would decompose automatically using solar power.
He was very passionate about the idea and thought about its
implementation in his subconscious mind. He went ahead, studying the
pros and cons of making such bins before launching it.
The next step in the creative process which Manan had to follow was : 1

(a)  Incubation
(b)  Innovation
(c) IMlumination
(d)  Verification
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13. A company uses 300 units of raw material per day. The order lead time is
5 days. The minimum level of inventory when a new order is to be placed
will be : 1
(a) 1500 units
(b) 1000 units
(c) 500 units
(d) 150 units

Read the following text and answer questions from 14 to 18.

Shri Ray, envisioned a restaurant chain that would be known for its
consistently high quality food and uniform method of its preparation. To
accomplish this, he took a novel approach. He persuaded both franchisors
and suppliers to buy into his vision, working not for the organization but
for themselves in collaboration.

“In business for yourself, but not by yourself,” he advertised.

Today, franchising is helping thousands of individuals to be their
own boss and operate their own business. There is usually a much
higher success rate when an individual opens a franchise as opposed to a
family-operated business, since a proven business formula is in place.

The functioning of this form of business is supported by a ‘Franchise
Agreement’ which is a legal document that binds the franchisor and
franchisee together. One of the main ingredients of franchise agreement
is operations manual in which detailed guidelines that must be legally
followed for operating the business as outlined by the franchisor are
stated. One of the most important advantages of buying a franchise is
that the entrepreneur does not have to incur all the risks associated with
creating a new business. Typically, the areas that entrepreneurs have
problems with in starting a new venture are product acceptance,
management expertise, meeting capital requirements, knowledge of the
market and operating and structural controls. In franchising, the risks
associated with each of the above-mentioned factors are minimised
through the franchise relationship and all these become advantages of
franchising to the franchisee.
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14. A legal document that binds the franchisor and franchisee together is
known as : 1
(a)  Mutual Agency
(b)  Cooperative Agreement
(c) Franchise Agreement
(d)  Partnership Deed

15. The phrase ‘In business for yourself, but not by yourself’ means : 1

(a) A franchise form of business provides the individual
owner / operator with independence to operate their business.

(b) A franchise form of business does not provide the individual

owner / operator with any independence to operate their business.

(c) A franchise form of business provides the individual

owner / operator the necessary capital to operate the business.

(d) A franchise form of business is very complex as it requires a lot of

capital investment by the franchisee.

16. One of the main ingredients of a franchise agreement which details the
guidelines that must be legally followed in operating the business as

outlined by the franchisor is known as : 1
(a)  Proprietary Statement

(b)  Operations Manual

(c) Contract Explanation

(d)  Field Manual

17. Which among the following is not a problem that is minimised in

franchising business ? 1
(a)  Product acceptance
(b) Management expertise
(c) Cost advantage
(d) Knowledge of the market
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18. Which among the following is not an advantage of franchising to the

franchisee ? 1
(a)  Cost advantage

(b)  Knowledge of the market

(c) Management expertise

(d)  Capital requirement

Section B

19. State any two points of difference between internal expansion and
external expansion. 2

20. (a) Why is it important for an entrepreneur to do a break-even

analysis? State any two points. 2

OR

(b)  What is meant by ‘working capital’ ? How does the cash conversion

cycle impact the need for working capital for any business ? State. 2

21. State any four parameters that suggest that an entrepreneur should

choose company form of an organisation. 2

22, (a) ‘An entrepreneur must pay adequate and proper attention to
human resource planning as it helps in assessing the kind of people

required.” Explain. 2
OR

(b) Explain ‘identify the target market’ as a step in preparing the

marketing plan. 2
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23. ‘Shudh Jal India Ltd. is the manufacturer of water purifiers. The
company has developed a new water purifier that not only converts the
hard water into soft water but also kills the bacteria and other harmful
microorganisms present in it.

For the marketing of water purifiers, it has appointed salesmen
throughout the country.

The company has also trained the salesmen to provide information about
the usefulness of the product to the customers, demonstrating features
and benefits not available with the competitor’s product without ever
mentioning them by name.

(a)  Identify the type of sales strategy adopted by the company.

(b)  Also discuss the type of sales strategy other than the one identified
in (a) above. 2

24. Saurabh Engineering Ltd. is expanding its product line for which it needs
an additional capital of ¥ 3 crores. The financial manager proposed that

the required finance be raised by offering securities to the existing
shareholders on pro rata basis.

(a) Identify and state the source of raising finance proposed by the
financial manager.

(b) State the benefit of using the source suggested by the financial
manager. 2

Section C

25. A factory is engaged in manufacturing cotton yarn of three qualities,

i.e., A grade, B grade and C grade. From the details given below, compute

the break;even level for each grade of cotton yarn. 3
A grade (%) B grade (%) C grade (%)
Selling price per
100 balls 10,000 5,000 7,000
Variable cost per
100 balls 3,000 2,500 3,000
Fixed cost per
month 35,000 25,000 10,000
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26. (a) State any six features of ‘Venture Capital’ finance. 3
OR

(b) Give the meaning of an Angel Investor. State any four points how

does an angel investor help an entrepreneur. 3

27. Explain the considerations related to the manufacturer while selecting a
distribution channel. 3

28. Nandini did her post-graduation from Manipur University, Imphal. She
had good job offers from several metropolitan cities but she thought of
doing some creative work in Imphal. She observed that a special type of
chilli was grown by the farmers of most of the villages around Imphal.
This chilli has a distinct flavour and the pickle made from it also had a
peculiar taste, but the local farmers were neither trained in farming of
this kind of chilli on a large scale nor was there a secured market for
their produce. Nandini shared this with her friends Dorjee and Shizu.
Dorjee was an MBA in marketing and Shizu had done a basic course in
food production and preservation. Nandani, Dorjee and Shizu formed an
organisation for doing the business of pickle manufacturing using these
chillies. Each of them contributed ¥ 2 lakh towards the capital and
decided to share the profits equally. They also agreed that any of them
can act on behalf of all of them. Each one of them will be the principal as

well as the agent of each other.

(a) Identify the type of business organisation started by Nandini,
Dorjee and Shizu.

(b)  Quoting the lines, state the two features of the type of business

organisation identified in part (a) above. 3
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29. Identify and explain the type of pricing methods used by the companies
in the situations given below : 3

(a) ‘Dental Care’ is a new company in the field of toothpastes. It is
launching its new improved toothpaste in small tubes of 100 gms
each at a cost of ¥ 5 per tube. It will be sold in remote rural
markets to capture more market share. The strategy of the
company is to set a price lower than the eventual market price
initially to attract the new customers and later on it will be raised
once market share is gained.

(b)  ‘Super Foods Ltd.” decided to sell their new energy drink ‘Bettergy’
only in the urban markets. Their marketing and finance team
decided to sell it in sustainable tetra packs of 200 mL, 500 mL and
1000 mL at a price of ¥ 20, ¥ 40 and ¥ 75 respectively. This

method of pricing permits different rates to be extended to different
customers for the same goods.

(c) ‘Data Robots’ is a startup firm in the field of Artificial Intelligence.
It decided to sell their voice-enabled air purifiers in the market for
T 50,000 per piece, which is higher than the already existing air
purifiers price in the market. They are confident of sale even at
higher price because of its quality. The company’s strategy is to
recover the Research and Development cost in few sales.

Section D

30. (a) Explain any five reasons for Mergers and Acquisitions of business
entities. 5

OR

(b) What is meant by Acquisition ? Explain the four types of
acquisitions. 5

31. (a) What is meant by Innovation ? Explain the different elements in

the innovation process. 5
OR
(b) Give the meaning of a Business Plan. Explain the formats in which
a business plan can be presented. 5
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32. Aman started his business of manufacturing designer home decor items
in Mumbai. His business was growing because of the quality products he
offered. He thought of expanding it to other cities of Maharashtra and for
this he required more financial and human resources. Aman approached
his Chartered Accountant, Rohan, for advice on his future course of
action. Rohan suggested to Aman to go for company form of organisation
where he could start even with two members, and have a minimum paid
up capital of ¥ one lakh. Acting on the advice of Rohan, Aman formed a
company with one of his friends.

(a) Identify the type of company formed by Aman and his friend.
(b) State any four privileges enjoyed by the type of company identified

in (a) above. 5

33. Calculate the Return on Investment for ‘Singh’, the owner of ‘Hawara
Sugar Mills’ for the year ending 2022—2023 from the data given below :

1. | Total sales revenue < 14,00,000
2. | Total cost of goods sold < 6,00,000
3. | Monthly salary and other utilities < 24,000

4. | Depreciation T 15,000

Singh invested ¥ 20 lakh out of which ¥ 8 lakh was owned funds of

Singh and rest was borrowed from IDBI Bank @ 10% p.a. Tax rate
applicable for the year was 20%. 5

34. ‘Fine Lines Ltd.’, is a well renowned company in the field of medical
equipment. Now it wants to diversify itself into pharmaceuticals. The
expansion plan needs huge financial resources which would not be
possible from debt alone. The company decides to go public.

(a) What type of company can raise funds from public ?

(b) Which document would be prepared by ‘Fine Lines Ltd.” to raise
funds from public ?

(a) State the primary advantage that ‘Fine Lines Ltd.” would have once
it goes public.

(b) State any four purposes for which ‘Fine Lines Ltd.” may use the
capital raised from public. 5
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Supplementary Examination, July 2023
ENTREPRENEURSHIP (SUBJECT CODE 066)

(PAPER CODE 98)

neral In ions: -

1 You are aware that evaluation is the most important process in the actual and
correct assessment of the candidates. A small mistake in evaluation may
lead to serious problems which may affect the future of the candidates,
education system and teaching profession. To avoid mistakes, it is requested
that before starting evaluation, you must read and understand the spot
evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the
confidentiality of the examinations conducted, Evaluation done and
several other aspects. Its’ leakage to public in any manner could lead to
derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc
may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking
Scheme. It should not be done according to one’s own interpretation or any
other consideration. Marking Scheme should be strictly adhered to and
religiously followed. However, while evaluating answers which are based
on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to
them. In class-X, while evaluating two competency-based questions,
please try to understand the given answer and even if the reply is not

1
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from the marking scheme but correct competency is enumerated by the
candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers
These are in the nature of Guidelines only and do not constitute the complete
answer. The students can have their own expression and if the expression is
correct, the due marks should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated
by each evaluator on the first day, to ensure that evaluation has been carried
out as per the instructions given in the Marking Scheme. If there is any
variation, the same should be zero after deliberation and discussion. The
remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual
evaluators.

6 Evaluators will mark( ) wherever the answer is correct. For wrong answer
CROSS ‘X” be marked. Evaluators will not put right (v )while evaluating
which gives an impression that the answer is correct and no marks are
awarded. This is the most common mistake which evaluators are
committing.

7 If a question has parts, please award marks on the right-hand side for each
part. Marks awarded for different parts of the question should then be totaled
up and written in the left-hand margin and encircled. This may be followed
strictly.

8 If a question does not have any parts, marks must be awarded in the
left-hand margin and encircled. This may also be followed strictly.

9 If a student has attempted an extra question, the answer of the question
deserving more marks should be retained and the other answer scored out
with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be
penalized only once.

11 A full scale of marks 70 has to be used. Please do not hesitate to award full
marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours
1.e., 8 hours every day and evaluate 20 answer books per day in main
subjects and 25 answer books per day in other subjects (Details are given in
Spot Guidelines).
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13 Ensure that you do not make the following common types of errors
committed by the Examiner in the past:-

° Leaving answer or part thereof unassessed in an answer book.

° Wrong totaling of marks awarded on an answer.

° Wrong transfer of marks from the inside pages of the answer
book to the title page.

° Wrong question wise totaling on the title page.

° Wrong totaling of marks of the two columns on the title page.

° Wrong grand total.

° Marks in words and figures not tallying/not same.

° Wrong transfer of marks from the answer book to online award
list.

° Answers marked as correct, but marks not awarded. (Ensure

that the right tick mark is correctly and clearly indicated. It should
merely be a line. Same is with the X for incorrect answer.)

° Half or a part of the answer was marked correct and the rest as
wrong, but no marks awarded.

14 While evaluating the answer books, if the answer is found to be totally
incorrect, it should be marked as cross (X) and awarded zero (0)Marks.

15 Any un-assessed portion, non-carrying over of marks to the title page, or
totaling error detected by the candidate shall damage the prestige of all the
personnel engaged in the evaluation work as also of the Board. Hence, in
order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the
“Guidelines for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks
carried over to the title page, correctly totaled and written in figures and
words.

18 The candidates are entitled to obtain a photocopy of the Answer Book on
request on payment of the prescribed processing fee. All
Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per
value points for each answer as given in the Marking Scheme.
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Senior School Supplementary Examination, July 2023
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(PAPER CODE 98)

Q.No. EXPECTED ANSWER / VALUE POINTS Marks
SECTION A
1 Which among the following is an element of micro level of business | 1
environment?
a. Social
b. Customer

c. Political
d. Ecological

A b. Customer 1

2 Which component of a brand appears in the form of a symbol, design, | 1
or distinct colour scheme?
a. Trademark

b. Brand name

c. Brand mark

d. Tagline
A ¢. Brand Mark 1
3 Coca-Cola and Pepsi are the companies operating in the beverage |1

market. If they decide to merge together to create a large organization
with a bigger market share, the type of merger so formed will be
called:

a. Market extension merger

b. Conglomerate

c. Horizontal merger
d. Vertical merger

A c. Horizontal Merger 1

4 Which amongst the following options will help an entrepreneur to | 1
determine the ‘Return on Equity (ROE)’?
(1) Total Capital Invested

(i1) Net Income

4
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(ii1) Gross Profit
(iv) Equity (owned funds)

a. (1), (i) and (iii)
b. (ii1) and (iv)

c. (i1) and (iv)

d. (1) and (iii)

A c. (ii) and (iv) 1

5 Anita, after her course in fashion designing from National Institute of | 1
Fashion Technology (NIFT), wanted to start a readymade garments unit
for infants. For this, she started attending baby shows where she could
talk to the parents of the newly born infants. She made an Instagram
profile for her clothing range where she posted her designs and on the
basis of ‘rating’ and ‘likes’ on the designs she planned her next set of
dresses. She started talking to the customers, both online and offline.
She also paid attention to what the customers were saying about
competitors' business. Identify the way of trend spotting that had been
used by Anita.

a. Think trends
b. Read trends
c. Talk trends
d. Watch trends

A c.Talk Trends 1

6 Assertion (A): Minors cannot form a partnership firm. 1
Reason (R): Minors are incompetent to enter into a valid contract.

Choose the best option from the following:

a. Both Assertion(A) and Reason(R) are true and Reason(R) is the
correct explanation for Assertion(A).

b.Both Assertion(A) and Reason(R) are true and Reason(R) is not the
correct explanation for Assertion(A).

c. Assertion(A) is true, but Reason(R) is false.

d. Reason(R) is true, but Assertion(A) is false

A a. Both Assertion (A) and Reason (R) are true and Reason (R) is the | 1
correct explanation for Assertion (A)

7 “Transferring of financial resources from the surplus units to the deficit | 1
units is the role of which of the following?
a. Financial marketing

b. Financial intermediation

c. Financial planning

5
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d. Financial budgeting

A b.Financial Intermediation 1

8 Assertion (A): Break-even point is that level of production where there | 1
is neither loss nor profit.

Reason (R): Break-even point helps in determining the product that are
not contributing to meet fixed expenses.

Choose the best option from the following:

a.Both Assertion (A) and Reason (R) are true and Reason(R) is the
correct explanation for Assertion(A).

b.Both Assertion (A) and Reason (R) are true and Reason(R) is not the
correct explanation for Assertion (A).

c. Assertion (A) is true, but Reason (R) is false.

d. Reason (R) is true,but Assertion (A) is false

A b. Both Assertion (A) and Reason (R) are true and Reason (R) is not | 1
the correct explanation for Assertion (A)

9 The basic test for a successful entrepreneur is: 1
a. Identification of business opportunity
b. Identification of a problem

c. Identification of target market

d. Identification of ways to earn profit

A a. Identification of business opportunity 1

10 Riya was fond of cooking and wanted to use her skills to establish a | 1
business of homemade pickles. Her business was established and it
turned out to be very popular in and around her locality. Her husband
was a manager in a bank and was transferred to another city. Riya had
to go along with her husband, so she had to close down her flourishing
pickle business.

The form of business organisation operated by Riya was:

a. Partnership

b. Public company

c. Sole proprietorship

d. Private company

A ¢. Sole Proprietorship 1
11 Which of the following statements is not true about a Private | 1
Company?
a. A private company has a minimum of two (2) and maximum of fifty
(50) members.

b. A private company does not restrict the right of transfer of shares of

6
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the members.

c. A private company uses the word ‘Pvt. Ltd.” at the end of its name.

d. A private company prohibits the public to subscribe for its shares or
debentures.

A b. A private company does not restrict the right of transfer of | 1
shares of the members

12 Manan thought of an idea to manufacture solar bins where the | 1
accumulated garbage would decompose automatically using solar
power. He was very passionate about the idea and thought about its
implementation in his subconscious mind. He went ahead, studying the
pros and cons of making such bins before launching it.

The next step in the creative process which Manan had to follow was:

a. Incubation

b. Innovation

c¢. Illumination

d. Verification

A c¢. [llumination 1

13 A company uses 300 units of raw material per day. The order lead time | 1
is 5 days. The minimum level of inventory when a new order is to be
placed will be :

a. 1500 units
b. 1000 units
c. 500 units
d. 150 units

A a. 1500 units 1
(Units per day x Lead time
300 x 5 =1500 units)

Read the following text and answer questions from 14 to 18

Shri Ray, envisioned a restaurant chain that would be known for its
consistently high quality food and uniform method of its preparation.
To accomplish this, he took a novel approach. He persuaded both
franchisors and suppliers to buy into his vision, working not for the
organisation but for themselves in collaboration.

“In business for yourself, but not by yourself”, he advertised.

Today, franchising is helping thousands of individuals to be their own
boss and operate their own business. There is usually a much higher
success rate when an individual opens a franchise as opposed to a
family-operated business, since a proven business formula is in place.
The functioning of this form of business is supported by a ‘franchise
agreement’ which is the legal document that binds the franchisor and
franchisee together. One of the main ingredients of franchise agreement

7
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is operations manual in which detailed guidelines that must be legally
followed for operating the business as outlined by the franchisor are
stated. One of the most important advantages of buying a franchise is
that the entrepreneur does not have to incur all the risks associated with
creating a new business. Typically, the areas that entrepreneurs have
problems with in starting a new venture are product acceptance,
management expertise, meeting capital requirements, knowledge of the
market and operating and structural controls. In franchising, the risks
associated with each of the above-mentioned factors are minimised
through the franchise relationship and all these become advantages of
franchising to the franchise

14 A legal document that binds the franchisor and franchisee together is | 1
known as:

a. Mutual agency

b. Co-operative agreement
c. Franchise agreement

d. Partnership deed

A c. Franchise Agreement 1

15 The phrase ‘In business for yourself, but not by yourself” means: 1
a. A franchise form of business provides the individual Owner/Operator
with independence to operate their business.

b. A franchise form of business does not provide the individual Owner/
Operator with any independence to operate their business

c. A franchise form of business provides the individual Owner/Operator
the necessary capital to operate the business.

d. A franchise form of business is very complex as it requires a lot of
capital investment by the franchisee.

A a. A franchise form of business provides the individual |1
Owner/Operator with independence to operate their business.

16 One of the main ingredients of the franchise agreement which details | 1
the guidelines that must be legally followed in operating the business as
outlined by the franchisor is known as:

a. Proprietary Statement

b. Operations Manual

c. Contract Explanation

d. Field Manual

A b. Operations Manual 1

17 Which among the following is not a problem that is minimised in
franchising business?
a. Product acceptance

8

Get More Learning Materials Here : & m &N www.studentbro.in



b. Management expertise
c. Cost advantage
d. Knowledge of the market
A c. Cost advantage 1
18 Which among the following is not an advantage of franchising to the | 1
franchisee?
a. Cost advantage
b. Knowledge of the market
c. Management expertise
d. Capital requirement
A a. Cost advantage 1
SECTION B
19 State any two points of difference between internal expansion and | 2
external expansion
A 1 mark for
Internal Expansion External Expansion ;a_cil point x
Results from the gradual | Refers to business
increase in the activities of the | combinations where two or
concern. more business concerns
combine and expand the
business activities.
The company can expand its | In the process of combination,
present production capacity by [ two or more units engage its
adding more machines or by | similar business or related
replacing old machines with the | process or stages.
new machines with higher
production capacity.
20 Why is it important for an entrepreneur to do a break-even analysis? | 2
State any two points.
OR
What is meant by ‘working capital’? How does the cash conversion | 2
cycle impact the need for working capital for any business? State.
A Break-even analysis helps the entrepreneur in the following ways:- | 1 mark for

Get More Learning Materials Here : &
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k.

It helps in setting profit goals & sales targets. each point x

2. It helps in determining the products that are not |2=2
contributing to meet the fixed expenses.

3. It is a useful technique for determining how many units
must be sold or how much sales volume must be achieved in
order to break—even.

4. It helps to indicate the volume of sales needed to cover total

variable and fixed expenses by the new enterprise.

(Any two points) 1 mark for
OR each point x

2=2

Money needed to fund the normal, day-to-day operations of a

business is known as the Working Capital.

Different products will have different operating cycles. If the
conversion takes longer then the cycle will be longer. For trading,
where there is no manufacturing (or conversion), the operating
cycle will be shorter. Longer the operating cycle, the working
capital quantum is more; the shorter the cycle, the less working
capital is needed.

21 State any four parameters that suggest that an entrepreneur should | 2
choose company form of an organisation.

A The parameters that an entrepreneur should consider whilst |2 x4=2
choosing company form of business organisation:

1. Venture is a heavy and basic industry type.

2. Large-scale operations are involved.

3. Business requires huge funds.

4. Enterprise involves heavy risks.

S. Enterprise is technologically complex and sophisticated,

banking heavily upon experts and professionals.

(Any four points)

22 ‘An entrepreneur must pay adequate and proper attention to human | 2
resource planning as it helps in assessing the kind of people required’.
Explain.

OR

Explain ‘identify the target market’ as a step in preparing the marketing | 2
plan.

A Human resource planning is a process by which an entrepreneur | 2 +
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ensures that he/she has the right number of people, and the right
kind of people with appropriate skills, at the right place and the
right time to do work for which they are economically most

suitable.
%2 mark for
The most basic thing the entrepreneur must clearly state: each point x
a. What kind of person is required to be hired for getting the | 3 =1
work done.

b. As each person would have a different position, duty and
responsibility, it becomes imperative for the entrepreneur to
clearly workout with a wide range of personnel ranging
from managers, supervisors, administrators, engineers,
technical, skilled and unskilled class.

c. Nature of business activity helps entrepreneurs to a large
extent in deciding the type of manpower required.

OR

Identify the target market:
This identification of the “target market” involves:
a. Deciding what the general market or industry the |’ for each
entrepreneur wishes to pursue is based on market research | point x 4 =2
or industry analysis done and complied with by competent
people or the entrepreneurs.
b. Divide the market into smaller groups based on:
i. Consumer characteristics viz.
e Geographic (State, Country, etc.)
e Demographic (Sex, age, etc.)
e Psychographics (Personality, lifestyle, etc.)
ii.Buying situations viz
e Buying conditions (Time available etc.)
e Usage
e Desired benefits (Feature of product)
¢. Select segment or segments to target
d. Develop a marketing plan integrating according to product,
price, distribution, and promeotion.

23 ‘Shuddh Jal India Ltd.” is the manufacturer of water purifiers. The | 2
company has developed a new water purifier that not only converts the
hard water into soft water but also kills the bacteria and other harmful
microorganisms present in it.

For the marketing of water purifiers, it has appointed salesmen
throughout the country.

The company has also trained the salesmen to provide information
about the usefulness of the product to the customers, demonstrating
features and benefits not available with the competitor's product without

11
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ever mentioning them by name.

a. Identify the type of sales strategy adopted by the company.
b. Also discuss the type of sales strategy other than the one identified in
(a) above.

A a. The type of sales strategy is - Indirect sales strategy. 1+

b. Direct sales strategy- in this sales strategy people attack the | 1
competition head on when talking to the customer. They talk
about each feature of the competitors product and compare
it to theirs.

24 Saurabh Engineering Ltd. is expanding its product line for which it | 2
needs an additional capital of ¥ 3 crores. The financial manager
proposed that the required finance be raised by offering securities to the
existing shareholders on pro rata basis.
a. Identify and state the source of raising finance proposed by the
financial manager.
b. State the benefit of using the source suggested by the financial
manager

A a. The source is - Rights issue 1+

It is a method of raising additional finance from existing | %2+
shareholders by offering securities to them on a pro-rata basis i.e.
giving them a right to a certain number of shares in proportion to
the shares they are holding.

b. The benefit of using this method is-
It is inexpensive as it does not require any brokers, agents, | 2
underwriters, prospectus or enlistment, etc.

SECTION C

25 A factory is engaged in manufacturing cotton yarn of three qualities, i.e. | 3
A grade, B grade and C grade. From the details given below, compute
the break-even level for each grade of cotton yarn.

A Grade (%) B Grade (%) C Grade (%)

Selling  Price | 10,000 5,000 7,000
per 100 balls

Variable cost| 3000 2,500 3,000
per 100 balls

12
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Fixed cost per | 35,000 25,000 10,000
month
A Break-Even level for each grade of cotton-yarn- 1 mark each
for Grade A,
B and C.
A Grade [B Grade |C Grade
) ) )
Selling Price per 100 | 10,000 5,000 7,000
balls
Variable cost per (3000) (2,500) (3,000)
100 balls
Contribution  Margin | 7,000 2,500 4,000
per 100 balls
Fixed cost per month 35,000 25,000 10,000
Break Even Level= 5 10 2.5
Fixed cost/contribution
margin per 100 balls
26 (a) State any six features of ‘Venture Capital’ finance. 3
OR
(b) Give the meaning of an Angel Investor. State any four points how
does an angel investor help an entrepreneur.
A (a) “ax6=3
Features of venture capital finance:
i. It is basically equity finance in relatively new companies.
ii. It is a long-term investment in growth-oriented small or medium
firms.
ili. Venture capitalists not only provide capital but also business
skills to the investee firms.
iv. It involves high risk-return spectrum.
v. It is a subset of private equity.
vi. The venture capital institutions have a continuous involvement
in the business after making the investment.
13
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vii. Such institutions disinvest the holdings either to the promoters
or in the market.
(Any six points)

OR
(b) 1
An angel investor is an affluent individual who provides capital for
a business start-up and early-stage companies having a high-risk,
high-return matrix usually in exchange for convertible debt or
ownership equity.

Yax4=2

An angel investor helps an entrepreneur in following ways:
i. Investment of funds.
ii. Provide proactive advice and guidance.
ili. Help in establishing industry connections and mentoring,
start-ups in its early days.
iv. Create companies by providing value creation, and
simultaneously helping investors realize a high return on
investments.
v. Keeps abreast of current developments in a particular business
arena, mentoring another generation of entrepreneurs by making
use of their vast experience.
(Any four points)

27 Explain the considerations related to the manufacturer while selecting a | 3
distribution channel.

A Considerations related to the manufacturer while selecting a | 1 mark for
distribution channel: each point
1.Goodwill - A manufacturer enjoying good reputation need not
depend on the middlemen as he can open his own branches easily.
2.Desire to control the channel of distribution- The channel of
distribution affects a manufacturer’s ambition to control the
channel of distribution affects its selection. Consumers can be
approached directly by such type of manufacturer.

3. Financial strength - A company which has a strong financial base
can evolve its own channels. On the other hand, financially weak
companies would have to depend upon middlemen.

28 Nandini did her post-graduation from Manipur University, Imphal. She | 3
had good job offers from several metropolitan cities but she thought of
doing some creative work in Imphal. She observed that a special type of
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chilli was grown by the farmers of most of the villages around Imphal.
This chilli has a distinct flavour and the pickle made from it also had a
peculiar taste, but the local farmers were neither trained in farming of
this kind of chilli on a large scale nor was there a secured market for
their produce. Nandini shared this with her friends Dorjee and Shizu.
Dorjee was an MBA in marketing and Shizu had done a basic course in
food production and preservation. Nandini, Dorjee and Shizu formed an
organisation for doing the business of pickle manufacturing using these
chilies. Each of them contributed ¥2 Lakh towards the capital and
decided to share the profits equally. They also agreed that any of them
can act on behalf of all of them. Each one of them will be the principal
as well as the agent of each other.

a. Identify the type of business organisation started by Nandini, Dorjee
and Shizu.

b. Quoting the lines, state the two features of the type of business
organisation identified in part (a) above.

A a. The type of business organisation is Partnership 1+

b. Features:
i. ‘Each of them contributed ¥2 Lakh towards the capital and [ 1+1
decided to share the profits equally’ - Profit Sharing in partnership
is decided by the partners and in this case they have decided to
share it equally.

ii. ‘Each one of them will be the principal as well as the agent of
each other’ - Mutual Agency means that each partner is liable for
acts performed by other partners.

111 TR any of them can act on behalf of all of them.’- Implied
Authority- There is an implied authority that any partner can act
on behalf of the firm. The firm stands bound by the acts of
partners.

iv. ‘Nandini, Dorje, and Shizu formed an organisation for doing the
business of pickle manufacturing using these chilies.” - Agreement -
The relation of partnership arises from contract and not from
status. Though oral agreement is even acceptable but in practice
written agreement is much more advisable as disputes can be
resolved better with it.

(Any two features)

29 Identify and explain the type of pricing methods used by the companies | 3
in the situations given below:

(a) ‘Dental Care’ is a new company in the field of toothpastes. It is
launching its new improved toothpaste in small tubes of 100 gms each
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at a cost of IS5 per tube. It will be sold in remote rural markets to
capture more market share. The strategy of the companies to set a price
lower than the eventual market price initially to attract the new
customers and later on it will be raised once the market share is gained.

(b) “‘Super Foods Ltd.” decides to sell their new energy drink ‘Bettergy’
only in the urban markets. Their marketing and Finance team decided
to sell it in sustainable tetra packs of 200 ml, 500 ml and 1000 ml at a
price of %20, %40, and X75 respectively. This method of pricing permits
different rates to be extended to different customers for the same goods.

(c) ‘Data Robots’ is a startup firm in the field of Artificial Intelligence.
It decided to sell its voice-enabled air purifiers in the market for
%50,000 per piece, which is higher than the already existing air purifiers
price in the market. They are confident of sale even at higher price
because of its quality. The company’s strategy is to recover the
Research and Development cost in few sales.

firms determines the increase in value of the combined
entity. It refers to the difference between the value of the

A a. Penetration Pricing: It is a pricing strategy where the price | /2 mark
of a product is initially set at a price lower than the eventual | each for
market price to attract new customers. heading +
b. Variable Price Method: It is a marketing approach that | /2 mark each
permits different rates to be extended to different customers | for
for the same goods or services explanation
¢. Creaming or Skimming Pricing: In this method, goods are | =
sold at a higher prices so that fewer sales are needed to [ 1 X3
break even. It is usually employed to reimburse the cost of
investment of the original research into the product.
SECTION D
30 Explain any five reasons for Mergers and Acquisitions of business | 5
entities.
OR
What is meant by Acquisition? Explain the four types of acquisitions
A Reasons for Mergers and Acquisitions: Y2 mark
1. Synergy - Synergy is the most essential component of | each for
mergers. In mergers, synergy between the participating | heading +

% mark each
for
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combined firm and the value of the sum of the participants. | explanation
Synergy accrues in the form of revenue enhancement and | =
cost savings. 1x5=5
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2. Acquiring new technology - To remain competitive,
companies need to constantly upgrade their technology and
business applications. To upgrade technology, a company
need not always acquire technology. By buying another
company with unique technology, the buying company can
maintain or develop a competitive edge.

3. Improved profitability - Companies explore the possibilities
of a merger when they anticipate that it will improve their
profitability.

4. Acquiring a competency - Companies also opt for M&As to
acquire a competency or capability that they do not have
and that the other firm does.

5. Entry into new markets - Mergers are often looked upon as
a tool for hassle-free entry into new markets. Under normal
conditions, a company can enter a new market, but may
have to face stiff competition from the existing companies
and may have to battle out for a share in the existing
market. However, if the merger route is adopted, one can
enter the market with greater ease and avoid too much
competition.

6. Access to funds - Often a company finds it difficult to access
funds from the capital market. This weakness deprives the
company of funds to pursue its growth objectives effectively.
In such cases, a company may decide to merge with another
company that is viewed as fund-rich.

7. Tax benefits - Mergers are also adopted to reduce tax
liabilities. By merging with a loss-making entity, a company
with a high tax liability can set off the accumulated losses of
the target against its profits gaining tax benefits.

(Any five points with proper explanation)
OR

Meaning - A corporate action in which a company buys most, if not
all, of the target company's ownership stakes in order to assume | 1+
control of the target firm. It is the buying of one company by
another.

There are four types of acquisitions:
1. Friendly acquisition: Y2 mark
Both the companies approve of the acquisition under friendly | each for
terms. There is no forceful acquisition and the entire process is | heading +

cordial. Y2 mark each

2. Reverse acquisition: for

A private company takes over a public company. explanation
17
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3. Back flip acquisition:

A very rare case of acquisition in which the purchasing company
becomes a subsidiary of the purchased company.

4. Hostile acquisition:

The entire process is done by force. The smaller company is
sometimes driven to a situation where they are forced to sell
themselves to a large company.

=1x4=4

31

What is meant by Innovation? Explain the different elements in the
innovation process.

OR

Give the meaning of a Business Plan. Explain the formats in which a
business plan can be presented.

Innovation: It is the process of entrepreneurship which involves the
translation of a useful idea into an application that has commercial
value. It takes persistent efforts to work out analytically the details
of the enterprise or service, to develop marketing strategies to
organize finances and strategize operations.

Elements in Innovation Process:

Analytical planning — Carefully identifying the product or service
features, design as well as the resources that will be needed.
Resource organization — Obtaining the required resources,
materials, technology, human or capital resources.

Implementation — Applying the resources in order to accomplish
the plans and deliver results.

Commercial application — The provision of value to customers,
reward employees and satisfy the stakeholders.

OR

The business plan is a comprehensively written down document
prepared by the entrepreneur describing formally all the relevant
external and internal elements involved in starting a new venture.

Formats of Business Plan:

i) Elevator pitch: It is a three-minute summary of the business
plan's executive summary. This is often used initially to awaken the
interest of potential funders, customers, or strategic partners.

ii) A pitch deck with oral narrative : A hopeful, entertaining slide
show and oral narrative that is meant to trigger discussion and
interest potential investors in reading the written presentation.

iii) A written presentation for external stakeholders: A detailed,

1+

% mark
each for
heading +

% mark each
for
explanation
=1 x4 =4

1+

% mark
each for
heading +

% mark each
for
explanation
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well-written, and pleasingly formatted plan targeted at external [=1x4=4
stakeholders.

iv) An internal operational plan: A detailed plan describing
planning details that are needed by management but may not be of
interest to external stakeholders.

32 Aman started his business of manufacturing designer home decor items | 5
in Mumbai. His business was growing because of the quality products
he offered. He thought of expanding it to other cities of Maharashtra
and for this he required more financial and human resources. Aman
approached his Chartered Accountant, Rohan, for advice on his future
course of action. Rohan suggested to Aman to go for company form of
organisation where he could start even with two members, and have a
minimum paid up capital of T one lakh. Acting on the advice of Rohan,
Aman formed a company with one of his friends.

(a)ldentify the type of company formed by Aman and his friend.
(b)State any four privileges enjoyed by the type of company identified
in (a) above.

A (a) Private Company 1

(b) Privileges of private company over public company 1x4=4
1) Only two members are required to form a private company.

2) Only two directors are required to constitute the quorum to
validate the proceedings of the meetings.

3) Such a company is not required to file a prospectus or a
statement in lieu of a prospectus with the Registrar of Companies.

4) It can commence its business immediately after incorporation.

5) Holding of a statutory meeting or filing of a statutory report is
required by a private company.

6) A non-member cannot inspect the copies of the profit and loss
Alc filed with the Registrar.

7) Limit on payment of maximum managerial remuneration does
not apply to a private company.

8) Restrictions on appointment and reappointment of managing
director do not apply.

9) Maintaining an index of members is not required by a private
company.
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10) Directors of the private company need not have qualification
shares.

(Any four privileges)

33 Calculate the Return on Investment for ‘Singh’, the owner of ‘Hawara | 5
Sugar Mills’ for the year ending 2022- 2023 from the data given below

1 Total sales revenue
%14,00,000

2 Total cost of goods sold %6,00,000

3 Monthly salary and other utilities | ¥24,000

4 Depreciation %15,000

Singh invested 20 lakh out of which ¥8 lakh was owned funds of
Singh and rest was borrowed from IDBI Bank @ 10% p.a. Tax rate
applicable for the year was 20%.

A Total Sales Revenue 14,00,000
Less: Cost of Goods Sold 6.00.000
GrossMargin 8,00,000 | 1
Less: Interest on borrowed funds @ 10%

(12,00,000 x 10/100) 1.20.000
Profit after interest but before tax 6,80,000 |1
Less: Salaries and Utilities (24,000 x 12) 2.88.000

3,92,000 |1
Less: Depreciation 15.000
Net Profit before Tax 3,77,000 |1
Less: Tax @ 20% 75,400
Net Profit 3.01.600 |4

Return on Investment =
(Net Profit /Total Capital Invested) x 100
(3,01,600/20,00,000) x 100= =15.08% Yz

ROI for Singh =15.08%

34 ‘Fine Lines Ltd.’, is a well renowned company in the field of 5
medical equipment. Now it wants to diversify itself into
pharmaceuticals. The expansion plan needs huge financial
resources which would not be possible from debt alone. The
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company decides to go public.
(a) What type of company can raise funds from public?

(b) Which document would be prepared by ‘Fine Lines Ltd’. to
raise funds from the public?

(c) State the primary advantage that ‘Fine Lines Ltd.” would
have once it goes public.

(d) State any four purposes for which ‘Fine Lines Ltd.” may use
the capital raised from public.

a. Public Company 1

b. Prospectus

¢. Primary Advantage - An entrepreneur stands to gain by | 1
going public is access to capital. The capital does not have to
be repaid and does not involve an interest charge.

d. Purposes for which capital is raised: Yax4=12
Growth and expansion
Retiring existing debt
Corporate marketing and development
Acquisition capital

[y
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